ddays dbgEA OO

2022488108, 118, 13H

BMEAE WRY T EYR S * * *x % % * *x % x * * %

FTHUHIRR : PAR x 2 T D @0 @6 ® @ ® @ OO D6’ OED®

HDCPERR: (%) 36.0 (%) 36.0 &%

HDCPFRR: (8) 0.0 (¥&) 0.0
IERL | witk&E® |72 k| 4> |GROSS| HDCP | NET ERE | #E$kE®R |7 k| 4> | GROSS| HDCP | NET
B BvI4 13 37 35 720 2.4] 69.6% ML DAaY 44 48 92| 18.0 74.0
ZEBE v/ 43 43| 86| 15.6/ 70.4/% 8261 |5 FHh ¥ 50 42 92| 18.0| 74.0
ML hITF 40 44| 84| 13.2) 70.8/% B |=vFH E 53 57| 110/ 36.0 74.0
M 4T LS 40 44| 84| 13.2 70.8/% M ESYY 47 44 91| 16.8| 74.2
S |[wwi 4 40 45| 85| 13.2) T71.8/% 456 YHR T 41 43 84 9.6/ 74.4
6L AH+ 50 471 97| 25.20 T1.8/% 4661 | a9 39 45 84 9.6/ 74.4
M | RF¥FEH 37 41 78| 6.0/ 72.0/% AL | +hH 3 42 42 84 9.6/ 74.4
8 |TVLS 42 42| 84| 12.0, 72.0/% B |75 %5 53 43 96| 21.6| 74.4
I |+HhL> 41 42| 83| 10.8 72.2/% 491 |4 F N 49 47 96| 21.6| 74.4
1062 | =>Hh 4 42| 83| 10.8 72.2/% 506 | 7H k 53 55| 108 33.6| 74.4/%
"W 295 39 371 76| 3.6/ 72.4 SIL | 7hAF 40 43 83 8.4 74.6
1262 |>@2% 43 45| 88| 15.6| 72.4 5261 |7 AV~ 48 47 95/ 20.4| 74.6
1361 | 2CF K 45 48| 93| 20.4 72.6 53GL | A 54 47 101, 26.4| 74.6
1461 NS4 49 44/ 93| 20.4 72.6 5461 A LA 42 40 82 7.2/ 74.8
1561 A A7 42 38 80| 7.2/ 72.8 551 |44 50 50 100, 25.2| 74.8
1661 | =H% 4 39| 80 7.2/ 72.8 56GL |1 JH % 51 55| 106, 31.2| 74.8
1762 |\ FhEH 43 43 86 13.2| 72.8 5761 | H9 4 47 46 93| 18.0| 75.0
186 | F+hHh4& 39 40 79| 6.0 73.0 5861 |24 < 48 51 99| 24.0| 75.0
1961 |y = 45 46| 91| 18.0/ 73.0 596 |[7AV< E 43 43 86| 10.8 75.2
206 | LhA 47 44/ 91| 18.0/ 73.0/% 606L |3 46 46 92| 16.8| 75.2/%
2161 | F v A 47 50/ 97| 24.0| 73.0 616 |a=2 48 44 92| 16.8| 75.2
261 |[FHHAD 40 50/ 90| 16.8| 73.2 6261 | T4 kA 48 44 92| 16.8| 75.2
2361 |EIH= 42 411 83 9.6/ 73.4 63GL |4 7% 42 56 98| 22.8| 75.2
2461 | HA 40 43| 83 9.6/ 73.4 64GL | v 4 47 51 98| 22.8| 75.2
2561 | hD Lt 38 51 89| 15.6| 73.4 6561 |HE 42 43 85| 9.6/ 75.4
266 |44 52 43| 95| 21.6/ 73.4 666L |[HA ko 47 44 91| 15.6| 75.4
21651 | FHEL A 4 411 82| 8.4 736 676 | v<H 48 48 96| 20.4| 75.6
2861 | NNTS 49 45| 94| 20.4 73.6 686 |7 ¥ 49 47 96| 20.4| 75.6
2961 | huy LS 47 47| 94| 20.4 73.6 696 |41 /™I E 50 52| 102 26.4| 75.6
06z avsy 3 43 38 81 7.2 73.8/% 706 EQ% 41 48 89| 13.2| 75.8/%
3L W RAT 4 40/ 81 7.2 73.8 NGz 4 X247 51 44 95/ 19.2| 75.8
261 NS F 42 45| 87| 13.2) 73.8 261 | £ 4 48 47 95/ 19.2| 75.8
L |TAFA 49 44/ 93| 19.2 73.8 L 2 F+H & 48 53| 101, 25.2| 75.8
ML [ FH4E 47 52 99| 25.2| 73.8 TABL |3/ 47 47 94| 18.0| 76.0
L | FTHAF 39 411 80| 6.0 74.0 561 |2 FHT 48 52 100| 24.0/ 76.0
366 |4 R =2 39 41| 80| 6.0 74.0 1661 | v <5 F 50 50, 100| 24.0/ 76.0
3L | ho#s 42 38| 80 6.0/ 74.0 16 |5+ 51 48 99| 22.8| 76.2
B [EYE 42 44| 86| 12.0/ 74.0 1861 (A FINT 47 45 92| 15.6| 76.4
6L |vTH A& 47 45| 92| 18.0/ 74.0 1961 | 49 43 92| 15.6| 76.4
404z |7k B 46 46| 92| 18.0/ 74.0/% 806L |1 /1S 51 47 98| 21.6| 76.4/%

P-1 EHSIYALRY—H5T



3days dtEEA DO UR
20228108, 11H. 13H

AR WNRY 7 = LA-: * * * ok % * * % x ok k%

FTHUHIRE © PAR X 2 7D @@ ® @ ® @ OO OB B G G

HDCPERR: (8B) 36.0 (&) 36.0 =

HDCPFRR:  (5) 0.0 (%) 0.0
IEf | gEEiE® |7V b A [GROSS| HDCP | NET | | | IEf: | 3E&E® |79k 4> [GROSS| HDCP | NET |
814 | 14 54/ 50| 104| 27.6] 76.4 1216 EHSYS 56| 47| 103] 25.2| 77.8
82 | R Ky 57| 47| 104| 27.6] 76.4 1226 |2 X% 50 53| 103| 25.2| 77.8
836 ¥ E b 50/ 41| 91 14.4) 76.6 12361 | 2 5 L5 56/ 53| 109| 31.2| 77.8
84 = E ) 45 46| 91| 14.4) 76.6 12461 |1 55 54 52 44| 96| 18.0| 78.0
856L |HA 55| 48| 103 26.4 76.6 12541 |y 50 46| 96/ 18.0/ 78.0
866L | 7S5 54 49| 103| 26.4| 76.6 12661 |~ 5H7 49| 47| 96/ 18.0| 78.0
876 | AA 24 52| 51| 103 26.4) 76.6 12761 | R Ky 44 50/ 52| 102| 24.0| 78.0
88fL A F 50/ 59| 109 32.4| 76.6 12861 | H 7 F 42 4 83 4.8 78.2
89% | ¥4 4 42| 42| 84| 7.2| 76.8 12961 | b7y 7 45| 44] 89| 10.8] 78.2
0L v RA 47 43 90, 13.2| 76.8% 13062 2254 45 44 89| 10.8| 78.2/%
L <4 50/ 52| 102 25.2| 76.8 1316 |2 H o< 44, 51 95| 16.8| 78.2
924% |/ 60/ 48| 108 31.2| 76.8 1326 | FHh LS5 v 50/ 51| 101| 22.8] 78.2
936L | A AN 45 50| 95 18.0/ 77.0 13362 |+ HEF + 48| 53| 101| 22.8] 78.2
94 | R 46| 49| 95/ 18.0| 77.0 13461 | FHHD 47| 54/ 101| 22.8] 78.2
954 |2+ H 48| 47 95| 18.0| 77.0 1354 |+ H A 43/ 45| 88 9.6/ 78.4
966 | HhTHa= 49| 46| 95| 18.0| 77.0 13662 |4 < 4 42| 46| 88 9.6/ 78.4
9761 | vHF 48/ 53] 101| 24.0/ 77.0 13761 | v < & 48/ 46| 94| 15.6 78.4
9841 | </ 53 48| 101 24.0/ 77.0 1386 7R & 46| 48] 94| 15.6| 78.4
99fL |4 H 57/ 50, 107| 30.0 77.0 1396 |2 h S5V 44| 50| 94| 15.6| 78.4
1006 [+HL5 o 56 57| 113| 36.0/ 77.0% 1406 | =¥ +H 4 50 50/ 100| 21.6| 78.4/ %
1014  EOt 52| 48| 100 22.8 77.2 1446 4 <T> 49| 51| 100| 21.6| 78.4
10261 v < 47 53] 100| 22.8 77.2 1426 | =T H™ 51 49| 100| 21.6| 78.4
1036 | A~ 49/ 51| 100| 22.8 77.2 1436% |42 45 = 48| 52| 100| 21.6| 78.4
10461 |52+ 5 53| 47| 100 22.8 77.2 14461 | NS 0 4 81| 2.4/ 78.6
10542 |2 H = 53 47\ 100| 22.8] 77.2 1454 9 54 46 41 93| 14.4) 78.6
10661 | Ao AH = 45, 48] 93| 15.6| 77.4 1466% |+ k™ 48 51 99| 20.4) 78.6
10762 o %4 49, 50| 99| 21.6| 77.4 1476 | 224 52 53| 105| 26.4 78.6
10861 | X =& + 56| 49| 105 27.6/ 77.4 1486% | S v & 48/ 50| 98] 19.2 78.8
1096 34 52| 53| 105/ 27.6/ 77.4 1496% |3 4% 53/ 45| 98] 19.2 78.8
1106 |74 A7 45 47) 92| 14.4) 71.6% 15062 |+ H / 52 46| 98] 19.2 78.8/%
1L | A A4S F 46) 52| 98| 20.4| 71.6 15146% |44+ 50 48| 98] 19.2 78.8
11261 |+ H 4% 45 53] 98] 20.4| 77.6 1526 | A X = 53/ 51| 104| 25.2 78.8
3L 394y o 46) 52| 98| 20.4| 71.6 1536 | =24 53) 51| 104| 25.2 78.8
11461 |4 X240 46| 52| 98] 20.4| 77.6 15461 | 8 LS 56/ 54/ 110| 31.2 78.8
11562 | #+H 5 51 53 104| 26.4| 77.6 15561 | Y LS A 44| 47 91| 12.0] 79.0
1166 /N E + 50/ 54| 104 26.4) 77.6 15642 |04 = 47, 44| 91| 12.0/ 79.0
M6 |43 HD 56| 54| 110 32.4) 71.6 15746 | 7 X< 46/ 45/ 91| 12.0/ 79.0
186 |/ &' F 45 40| 85| 7.2/ 71.8 1586 | < T4 51 52/ 103| 24.0/ 79.0
19 |/ & F 52| 45| 97 19.2 77.8 15961 | %4 / 56/ 53| 109| 30.0/ 79.0
12060 | =< A H 53| 50| 103| 25.2| 77.8|% 1606% |+ H/\ 55 60| 115] 36.0/ 79.0 %

P-2 KH#IYVYAUR)—=UFT




3days dtEEA DO UR
2022488108, 118, 13H

AR WNRY 7 & Li-: * * *  x ) * * % * Kk k%

FTHUHIRR : PAR x 2 IO @03 @6 ® @ @ {4 OO 6B’ dda

HDCPERR: (8B) 36.0 (&) 36.0 =

HDCPRER:  (5) 0.0 (%) 0.0
| B | BieE® (72 b A > [GROSS| HDCP | NET | | | IEf: | 3E&E® |79k 4> [GROSS| HDCP | NET |
16161 |[v<o4 o 44 46| 90| 10.8 79.2 2014L | ES¥~ 56 44/ 100, 19.2| 80.8
16241 | <45 F 47 49| 96| 16.8 79.2 20261 | E kY 48 52/ 100, 19.2| 80.8
1636 |1 749+ 56 52| 108 28.8| 79.2 2036% | 4 51 55| 106, 25.2| 80.8
16441 | v< 4 43 46| 89| 9.6/ 79.4 20441 | E 1) & 57 49| 106, 25.2| 80.8
1656 |41 7= 59 48| 107| 27.6/ 79.4 20501 | LS5 < 43 44 87 6.0/ 81.0
16662 | 7547 59 48/ 107| 27.6| 79.4 2064 | = ¥4 47 52 99| 18.0/ 81.0
16761 | <S5 55 52/ 107| 27.6| 79.4 2074 |4 k> 48 51 99| 18.0| 81.0
1684 | £ 1) 44 50 94| 14.4| 79.6 208%L | E O+ 51 48 99| 18.0| 81.0
16961 |04 54 46| 100| 20.4 79.6 20961 |/ 4 61 56| 117| 36.0/ 81.0
1706 |2 b 47 53|  100| 20.4| 79.6% 21062 |\ =Y Ah D 62 55|  117| 36.0 81.0|%
NG |27 L5 54 58/ 112 32.4| 79.6 2116L | H NS 43 43 86| 4.8 81.2
17261 |4 +72 E 47 40| 87| 7.2 79.8 21261 | = F 4 55 49| 104 22.8| 81.2
1361 | 2+H 77 50 49| 99| 19.2/ 79.8 21361 | A3 51 59| 110, 28.8| 81.2
17461 |2+ 3 Hh4A 54 45 99| 19.2] 79.8 21460 b3 A 57 53| 110/ 28.8| 81.2
17542 (320 45 54/ 99| 19.2| 79.8 21561 | A A< 54 62| 116| 34.8 81.2
17662 |2 JN\% 56 49| 105| 25.2 79.8 21641 | FY A 50 53 103| 21.6| 81.4
1776 | 72F - 54 51 105 25.2| 79.8 2076|272 55 48/ 103] 21.6| 81.4
17861 | A4S 59 52 111 31.2| 79.8 21841 |4 X A 50 52| 102 20.4| 81.6
171962 | AAHD 45 47 92| 12.0/ 80.0 21961 | v < 4 46 56| 102 20.4| 81.6
1804z |7 1) A 45 471 92| 12.0/ 80.0% 2206% | ES % 59 49| 108| 26.4 81.6/%
1814z |7 X = 50 48| 98] 18.0/ 80.0 2162|277 ) 52 56| 108 26.4| 81.6
1824 |4 46 58/ 104| 24.0| 80.0 22261 |2 +H h 50 51| 101, 19.2| 81.8
18362 | FHhHa= 48 56| 104| 24.0| 80.0 2234 | H # 56 51| 107, 25.2| 81.8
1844 | oo 57 53| 110| 30.0| 80.0 22441 | 3345 = 61 46| 107, 25.2| 81.8
1851 | B /NS 55 61 116/ 36.0/ 80.0 225061 | 24 61 52 113 31.2| 81.8
1866 | W XA A 51 46| 97| 16.8 80.2 22641 | Y HE b 52 61 113] 31.2) 81.8
1874z (a3 / 50 53| 103| 22.8| 80.2 22761 |1\ 5 46 53 99| 16.8| 82.2
18841 | A A 51 52| 103| 22.8| 80.2 22841 | A< 54 45 99| 16.8| 82.2
1896 |3 52 51 103] 22.8| 80.2 22941 | A4 55 56| 111, 28.8| 82.2
1906z | v<4& H 50 59| 109 28.8] 80.2 % 2304 | R = 59 58| 117, 34.8| 82.2/%
191462 | L5H = 46 50/ 96| 15.6| 80.4 28146z |32h 56 48/ 104| 21.6| 82.4
19262 |45 47 52 50/ 102| 21.6| 80.4 23201 | S A 55 55| 110| 27.6| 82.4
193 |[vv<45F o 46 49| 95| 14.4 80.6 2336L |4 5 49 48 97| 14.4| 82.6
19441 | o2« 51 50| 101 20.4| 80.6 28461 | s k9 E 50 47 97| 14.4| 82.6
1954 |24 3 56 51 107| 26.4| 80.6 23561 | =D& 49 54/ 103 20.4| 82.6
19662 | +HEL < 53 54/ 107| 26.4| 80.6 2364L | A A4 = 54 54/ 108 25.2| 82.8
1974 | £ 454D 49 58/ 107| 26.4| 80.6 2L |AH 5 57 62 119] 36.0/ 83.0
19841 (/X8 53 54/ 107| 26.4| 80.6 2384L [V AT 58 54/ 112) 28.8| 83.2
1994z |4/ 60 53| 113] 32.4| 80.6 23941 | A & 55 57| 112 28.8| 83.2
20042 | H R A 60 53| 113] 32.4| 80.6/% 24062 |27 L 49 44 93| 9.6/ 83.4/%

P-3 KH#IYVYAUR)—=UFT




ddays dbgEA OO

2022488108, 118, 13H
BMEAE WRY T EYR S * * *x % % * *x % x * * %
FTHEUHIPR © PARx 2 ThDO @03 @®6 ® @ ® © (U Od OB’ ®dEOD®
HDCPERR: (%) 36.0 (%) 36.0 "%
HDCPREE: (B) 0.0 (Z) 0.0
| DBtz | #EES 79k A > [GROSS| HDCP | NET | | | IEfL | BEE® |79 K| 1> [GROSS| HDCP | NET |
20145 | RS 56 60| 116 32.4| 83.6 2814 | 7+ EX 64 73| 137| 36.0| 101.0
20201 | B =Y 57 57/ 114] 30.0| 84.0 2824 |4 HA 71 69| 140/ 36.0| 104.0
24361 | Fhv < 56 58| 114| 30.0 84.0 28346% |74 75 70| 145 36.0| 109.0
20441 (v A D 57 63| 120| 36.0 84.0 28431 sk & 81 65 146/ 36.0| 110.0
24501 |1\ 54 66/ 120| 36.0/ 84.0 BM [M/NS 80 72| 152| 36.0/ 116.0/%
2460 | R YER ¥ 55 52| 107, 22.8| 84.2 BB [IVE K 78 79| 157 36.0 121.0 %
20161 |\ HHHAR 54 53| 107| 22.8| 84.2
24841 |[v<w2 ¥ 59 54/ 113| 28.8| 84.2
20041 |y b 58 61 119] 34.8| 84.2 ABBDOAIZIF KRN DONTVEY  ERNBIERIMTIHER:ZEL,
25001 [ EVF b6 62 118] 33.6] 84.4% ERIF8ATAALIA LAFTIZ. BRFFETT,
2514 | < E b 59 59| 118 33.6| 84.4 EROEERKRICEY. ARDNERIZHRIIENHYFET , T HRKZEL
25261 |\ A A=V 52 53| 105/ 20.4| 84.6
25341 | T U S 57 54/ 111 26.4| 84.6
2544 | =S A H 62 49| 111| 26.4 84.6
2550 |44 59 62| 121| 36.0/ 85.0
25641 | h K4 56 63| 119| 33.6/ 85.4
25161 | S RTF 58 59| 117| 31.2| 85.8
20861 | ¥ E 64 46/ 110/ 24.0/ 86.0
25061 |/ /T 60 62| 122| 36.0/ 86.0
26041 | /N7 58 51| 109| 22.8 86.2/%
26142 | o<« 49 59| 108 21.6| 86.4
2620 | 7R 57 62| 119) 32.4| 86.6
2636 | FhLS < 61 56/ 117| 30.0| 87.0
2641 | A X5 4 53 64/ 117 30.0, 87.0
26506 EJF = 62 59| 121| 33.6) 87.4
2664 |7 x4 53 61 114 26.4| 87.6
26741 | A A\ 42 59/ 101 13.2| 87.8
2686 | A Hh LS 63 61 124] 36.0/ 88.0
26941 |2 VA 51 52| 103| 14.4| 88.6
21042 | h+4H7 50 58| 108| 19.2| 88.8/%
27114L | T 62 58/ 120/ 31.2| 88.8
21241 | LS5 H = 65 60| 125/ 36.0/ 89.0
2136 [ 4% o 62 63 125/ 36.0/ 89.0
27441 |71 65 61 126/ 36.0/ 90.0
21541 |+ H=E + 63 64/ 127| 36.0/ 91.0
2160 |4 < =% 64 63 127| 36.0/ 91.0
2T | A AV + 63 65| 128/ 36.0/ 92.0
27841 |4 A 64 66/ 130 36.0/ 94.0
27961 | R A Y 66 64/ 130] 36.0, 94.0
28041 | 4 66 69| 135 36.0/ 99.0 %
P-4 FHI3YHURY—=H5T



